
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

PP10166 06.01.6 pp100gb FF 29-SEP-99

Engines
G855, G855 CM558, GTA855 CM558 (CM2358) G101, N14 CELECT, N14 CELECT PLUS, N14 MECHANICAL, NH/NT
855, QSM11 CM876 M101, QSM11 CM876 M102M, QSN14 CM876 N103, QSN14 CM876 N105, QSNT14 CM876
N102

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  PP10166 Oil Manifold   

     STC injector plumbing for N14

     industrial engines. Oil

     control valve mounted high

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('pp100gb','/rtgraphics/english/parts/pp/1/pp100gb_sm.png');
javascript:swap_img('pp100gb','/rtgraphics/english/parts/pp/1/pp100gb_md.png');
javascript:swap_img('pp100gb','/rtgraphics/english/parts/pp/1/pp100gb_lg.png');


     near rear of block.

1 3067944 Oil Manifold   

2 68152 Clip 1 # 4

3 3001340 O-Ring Seal 3  

4 3008465 Pipe Plug 1 1/8 NPT

5 3019572 Captive Washer Cap Screw 3  

6 3033098 Tube Brace 1  

7 3067567 Captive Washer Cap Screw 1 1/4 - 20 X 5/8 Inch.

8 3071225 Captive Washer Cap Screw 3 3/8 - 16 x 3/4 in.

9 68425 Clip 2  

3 3001340 O-Ring Seal 6  

10 3068014 Variable Timing Supply Tube   

11 3050867 Grommet Seal 6  

12 3052587 O-Ring Seal 6  

 3071222 Oil Manifold Connector   

13       3040814 Threaded Plug 1 7/16 - 20 UNF

14           3036666 O-Ring Seal 1  

15       3066837 Ball Plug 1  

 16       3070513 Oil Manifold Connector 1  

17 3074387 Captive Washer Cap Screw 6 5/16 - 24 x 1 1/4 inch.

18 3909397 O-Ring Seal 6  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

